heaERrSEEA— Y

it} = AWS- 901SA
& 5 SHHBHRAS
A = K%
" EGASH AN 105 kW
5 v & = 1800 L/h <*1>
w5 B E 50~80 °C <*1>
fr & = 950 L
Tl &= &8 @ & 255 m?
| REERER 0.1 Mpa
F & o 1| BRERDHE
) B = OM1N2U-092
HI® B A R ENBBRAIATN—F
#| A X A R TREEBRAN—IHR
N REREE AFD
W @ A K ON-OFF4i|{#l
& ®» = 0.15 kW
-+ . T i 13 L/h <x2>
mHHARE A S i 12.2 L/h <¥2>
BREE-BREH AC100V EitH-50/60Hz
H B B A (50/60Hz) 0.25 kW / 0.26 kW
BEoEE R OR $223 mm (5}%)
B OBk E K B 180 m°N/h
HwEO-BKOTiE 490 mm X 490 mm
# & H = 455 kg
E & H = 1405 kg
7z £ X B RIRREHEES - BRBILEEE -AEEBENEBEA T aY)
i B i KEREH -AAIAN —F - HERERFAEHF
b

1. R *1>DREF, LFEESOCTHELTVET,
2. Rp<*2>1F, FTREDEETHEELTVET,

wRE KT8 AZEH
BRH2=E (MJ/kg) 46.3 -
BEXRE (MJ/kg) N 42.7
BE (g/cm’) 0.8 0.86
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